

		COMPANY		SAFETY PPLY	GAL	LS, LLC.	NAI	FECO		A POLICE BUTORS
ITEM NO.	COMMODITIES OR SERVICES	EST. QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
	PUBLIC	SAFETY: POL	ICE SERV	ICES, POLIC	<b>CE RECORI</b>	DS, SPECIAL	OPERATION	NS		
1.	ABA Body Armour External Carrier, Tactical Assault Carrier with Fixed Pockets, Item #ABA-TAC1-PKT, no substitutes.	14	<u>\$139.57</u>	<u>\$1,953.98</u>	<u>\$202.25</u>	<u>\$2,831.50</u>	<u>N/B</u>	<u>N/B</u>	<u>\$230.00</u>	<u>\$3,220.00</u>
2.	ABA Extreme BR01, Level 3A Body Armour,NIJ-06, Navy, 2 AJ Carriers (Female), no substitutes.	14	<u>\$634.14</u>	<u>\$8,877.96</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$1,100.00</u>	<u>\$15,400.00</u>
3.	Galls Nylon Windbreaker, Style# JA138, Sizes: Small – XL, Color: Black, no substitutes.	75	<u>N/B</u>	<u>N/B</u>	<u>\$13.00</u>	<u>\$975.00</u>	<u>\$30.00</u>	<u>\$2,250.00</u>	<u>N/B</u>	<u>N/B</u>
4.	Galls Nylon Windbreaker, Style# JA138, Sizes: 2XL-4XL, Color: Black, no substitutes.	50	<u>N/B</u>	<u>N/B</u>	<u>\$14.00</u>	<u>\$700.00</u>	<u>\$35.00</u>	<u>\$1,750.00</u>	<u>N/B</u>	<u>N/B</u>
5.	Galls Nylon Windbreaker with Removable Liner, Style# JA411, Sizes: S- XL, Color: Black, no substitutes.	65	<u>N/B</u>	<u>N/B</u>	<u>\$40.00</u>	<u>\$2,600.00</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
	Galls Nylon Windbreaker with Removable Liner, Style# JA411, Sizes: 2XL-3XL, Color: Black, no substitutes.	75	<u>N/B</u>	<u>N/B</u>	<u>\$42.00</u>	<u>\$3,150.00</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
7.	Galls Nylon Windbreaker with Removable Liner, Style# JA411, Size: 4XL, Color: Black, no substitutes.	25	<u>N/B</u>	<u>N/B</u>	<u>\$44.00</u>	<u>\$1,100.00</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>



# ITB NO.: 20-101306

		COMPANY		SAFETY PPLY	GALI	LS, LLC.	NAI	FECO		A POLICE IBUTORS
ITEM NO.	COMMODITIES OR SERVICES	EST. QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
	Gibson And Barnes, Sentinel Shirt Mil- Spec 45, color: Sage- Men Style # SB2M1ES, Long Sleeve no epaulets Sizes 32-48, no substitutes	12	<u>N/B</u>	<u>N/B</u>	<u>\$230.00</u>	<u>\$2,760.00</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
	Gibson And Barnes, Sentinel Shirt Mil- Spec 45, color Sage- Men Style # SB2M1ES, Long Sleeve w/ epaulets Sizes 32-48, no substitutes	12	<u>N/B</u>	<u>N/B</u>	<u>\$243.00</u>	<u>\$2,916.00</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
10.	Gibson And Barnes, Sentinel Pants Mil- Spec 45, color Sage-Men Style # TB1M1ES, Sizes 32-48, various inseams, no substitutes	12	<u>N/B</u>	<u>N/B</u>	<u>\$243.00</u>	<u>\$2,916.00</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
11.	Gibson And Barnes, Sentinel Flight Jacket Heavy Weight Lining Mil-spec 45-Men Style # JB2M1ES-MA4R- 000001Sizes: 36-52, short in length, color Sage, w/out Epaulets, no substitutes	12	<u>N/B</u>	<u>N/B</u>	<u>\$435.00</u>	<u>\$5,220.00</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
12.	Gibson And Barnes, Sentinel Flight Jacket Heavy Weight Lining Mil-spec 45-Men Style # JB2M1ES-MA5R- 000001 Sizes: 36-52, short in length, color Sage, with Epaulets, no substitutes	8	<u>N/B</u>	<u>N/B</u>	<u>\$448.00</u>	<u>\$3,584.00</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
13.	Gibson and Barnes Sentinel Flight Suit- Defiant Nomex 6.5, Style # UB2N2ES, Long Sleeve, Sizes: 36-52, Regular in length, Color; green, no substitutes.	8	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>



# ITB NO.: 20-101306

		COMPANY		SAFETY PPLY	GALI	LS, LLC.	NAI	FECO		A POLICE BUTORS
ITEM NO.	COMMODITIES OR SERVICES	EST. QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
14.	Gibson and Barnes Sentinel Flight Suit- Defiant Nomex 6.5, Style # UB2N2ES, Long Sleeve, Sizes: 36-52, with epaulets Regular in length, Color; green, no substitutes.	8	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
15.	Peter Jay Motorcycle Pants with gold or silver stripe, Style 1441, Winter, Sizes: 28 – 44, Length: Regular, Color: Black, no substitutes.	37	<u>N/B</u>	<u>N/B</u>	<u>\$308.00</u>	<u>\$11,396.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$275.00</u>	<u>\$10,175.00</u>
16.	Peter Jay Motorcycle Pants with gold or silver stripe, Style# 1441, Winter, Sizes: 46– 56, Length: Regular, Color: Black, no substitutes.	37	<u>N/B</u>	<u>N/B</u>	<u>\$308.00</u>	<u>\$11,396.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$412.50</u>	<u>\$15,262.50</u>
17.	Peter Jay Motorcycle Pants with gold or silverstripe, Style# 1851, Summer, Sizes: 28 – 44, Length: Regular, Color: Black, no substitutes	37	<u>N/B</u>	<u>N/B</u>	<u>\$302.00</u>	<u>\$11,174.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$265.00</u>	<u>\$9,805.00</u>
18.	Peter Jay Motorcycle Pants with gold or silver stripe, Style# 1851, Summer, Sizes: 46 – 56, Length: Regular, Color: Black, no substitutes.	37	<u>N/B</u>	<u>N/B</u>	<u>\$302.00</u>	<u>\$11,174.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$397.50</u>	<u>\$14,707.50</u>



		COMPANY		SAFETY PPLY	GAL	LS, LLC.	NAI	FECO		A POLICE IBUTORS
ITEM NO.	COMMODITIES OR SERVICES	EST. QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
	Port Authority, Ladies Long Sleeve Value Poplin Shirt, Style # L632, Sizes: S-4XL, Color: White or acceptable equal.	100	<u>N/B</u>	<u>N/B</u>	<u>\$28.75</u>	<u>\$2,875.00</u>	<u>\$16.65</u>	<u>\$1,665.00</u>	23 (S-XL) extra charges apply for 2XL-4XL (charges not stated)	<u>\$2,300.00</u>
20.	Port Authority, Ladies Long Sleeve Value Poplin Shirt, Style # L632, Sizes: S-4XL, Color: White or acceptable equal. MANUFACTURER NAME & NO	50	<u>N/B</u>	<u>N/B</u>	<u>\$28.75</u>	<u>\$1,437.50</u>	<u>\$19.98</u>	<u>\$999.00</u>	23 (S-XL) extra charges apply for 2XL-4XL (charges not stated)	<u>\$1,150.00</u>
21.	Port Authority, Ladies Long Sleeve Value Poplin Shirt, Style # L632, Sizes: S-4XL, Color: White or acceptable equal. MANUFACTURER NAME & NO.	25	<u>N/B</u>	<u>N/B</u>	<u>\$28.75</u>	<u>\$718.75</u>	<u>\$23.32</u>	<u>\$583.00</u>	23 (S-XL) extra charges apply for 2XL-4XL (charges not stated)	<u>\$575.00</u>



		COMPANY		SAFETY PPLY	GAL	LS, LLC.	NAI	FECO		A POLICE IBUTORS
ITEM NO.	COMMODITIES OR SERVICES	EST. QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
22.	Taylors Leatherwear Pittsburgh Leather Motorcycle Jacket, Style# 4473, Sizes: S- 4XL, Length: Long, Color: Black, no substitutes.		<u>N/B</u>	<u>N/B</u>	<u>\$323.00</u>	<u>\$11,305.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$399.00</u>	<u>\$13,965.00</u>
23.	United Uniform Pique Knit Polo Shirt with Pocket, Style# 540 Coolmax, Bike Patrol, short sleeve, 70% Polyester 30% Cotton, 1 inch reflective trim on sleeves, Microphone tab on both shoulders, Sizes: X Small – XL, Color: Black, no substitutes.	60	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$37.75</u>	<u>\$2,265.00</u>	<u>N/B</u>	<u>N/B</u>
24.	United Uniform Pique Knit Polo Shirt with Pocket, Style# 540 Coolmax, Bike Patrol, short sleeve, 70% Polyester 30% Cotton, 1 inch reflective trim on sleeves, Microphone tab on both shoulders, Sizes: 2XL – 4XL, Color: Black, no substitutes.	60	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$45.30</u>	<u>\$2,718.00</u>	<u>N/B</u>	<u>N/B</u>
25.	United Uniform Pique Knit Polo Shirt with Pocket, Style# 540 Coolmax, Bike Patrol, short sleeve, 70% Polyester 30% Cotton, 1 inch reflective trim on sleeves, Microphone tab on both shoulders, Size: 5XL, Color: Black, no substitutes.	20	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$49.25</u>	<u>\$985.00</u>	<u>N/B</u>	<u>N/B</u>



# ITB NO.: 20-101306

		COMPANY		SAFETY IPPLY	GAL	LS, LLC.	NAI	FECO		A POLICE IBUTORS
ITEM NO.	COMMODITIES OR SERVICES	EST. QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
26.	United Uniform Pique Knit Polo Shirt with Pocket, Style# 540 Coolmax, Bike Patrol, short sleeve, 70% Polyester 30% Cotton, 1 inch reflective trim on sleeves, Microphone tab on both shoulders, Size: 6XL, Color: Black, no substitutes.	10	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$52.90</u>	<u>\$529.00</u>	<u>N/B</u>	<u>N/B</u>
27.	United Uniform Pique Knit Polo Shirt with Pocket, Style# 540L Coolmax, Bike Patrol, long sleeve, 70% Polyester 30% Cotton, 1 inch reflective trim on sleeves, Microphone tab on both shoulders, Sizes: X Small – XL, Color: Black, no substitutes.	60	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$40.90</u>	<u>\$2,454.00</u>	<u>N/B</u>	<u>N/B</u>
28.	United Uniforms Waterproof Bike Patrol Jacket, Style# 9550 Hydro-Tex, 100% Nylon, zip out liner, Microphone tabs on shoulders, 1/2 inch reflective trim across the chest and back,Sizes: Small – XL, Colors: Black, no substitutes.	60	<u>N/B</u>	<u>N/B</u>	<u>\$95.00</u>	<u>\$5,700.00</u>	<u>\$125.00</u>	<u>\$7,500.00</u>	<u>N/B</u>	<u>N/B</u>
29.	United Uniforms Waterproof Bike Patrol Jacket, Style# 9550 Hydro-Tex, 100% Nylon, zip out liner, Microphone tabs on shoulders, 1/2 inch reflective trim across the chest and back, Sizes: 2XL – 4XL, Color: Black, no substitutes.	60	<u>N/B</u>	<u>N/B</u>	<u>\$103.00</u>	<u>\$6,180.00</u>	<u>\$137.50</u>	<u>\$8,250.00</u>	<u>N/B</u>	<u>N/B</u>



# ITB NO.: 20-101306

		COMPANY		SAFETY PPLY	GAL	LS, LLC.	NAI	FECO		A POLICE IBUTORS
ITEM NO.	COMMODITIES OR SERVICES	EST. QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
30.	United Uniforms Waterproof Bike Patrol Jacket, Style# 9550 Hydro-Tex, 100% Nylon, zip out liner, Microphone, tabs on shoulders, 1/2 inch reflective trim across the chest and back, Size: 5XL, Color: Black, no substitutes.		<u>N/B</u>	<u>N/B</u>	<u>\$103.00</u>	<u>\$2,060.00</u>	<u>\$162.50</u>	<u>\$3,250.00</u>	<u>N/B</u>	<u>N/B</u>
31.	Walls Men's Poplin Coverall, Style# 1216, Sizes: 38 – 48, Length: Short, Colors: Black or Navy, no substitutes.	50	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$37.75</u>	<u>\$1,887.50</u>	<u>N/B</u>	<u>N/B</u>
32.	Walls Men's Poplin Coverall, Style# 1216, Sizes: 36 – 48, Length: Regular, Colors: Black or Navy, no substitutes.	30	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$37.75</u>	<u>\$1,132.50</u>	<u>N/B</u>	<u>N/B</u>
33.	Blauer, Style # 8372 ArmorSkin, S/S, Poly Blend Street Shirt w/ 3 button center front placket- Color: Black - Size: 2X-Large	120	<u>\$139.57</u>	<u>\$16,748.40</u>	<u>\$37.00</u>	<u>\$4,440.00</u>	<u>\$33.96</u>	<u>\$4,075.20</u>	<u>\$39.81</u>	<u>\$4,777.20</u>
34.	Blauer, Style # 8372 ArmorSkin, S/S, PolyBlend Street Shirt w/ 3 button center front placket- Color: Black - Size: 3X-Large	28	<u>\$139.57</u>	<u>\$3,907.96</u>	<u>\$40.50</u>	<u>\$1,134.00</u>	<u>\$33.96</u>	<u>\$950.88</u>	<u>\$43.43</u>	<u>\$1,216.04</u>
35.	Blauer, Style # 8372 ArmorSkin, S/S, Poly Blend Street Shirt w/ 3 button center front placket- Color: Black - Size: 4X-Large	28	<u>\$139.57</u>	<u>\$3,907.96</u>	<u>\$43.00</u>	<u>\$1,204.00</u>	<u>\$33.96</u>	<u>\$950.88</u>	<u>\$47.05</u>	<u>\$1,317.40</u>



## ITB NO.: 20-101306

		COMPANY		SAFETY IPPLY	GAL	LS, LLC.	NAI	FECO	1	A POLICE IBUTORS
ITEM NO.	COMMODITIES OR SERVICES	EST. QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
36.	Blauer, Style # 8372 ArmorSkin, S/S, Poly Blend Street Shirt w/ 3 button center front placket- Color: Black - Size: Large	920	<u>\$139.57</u>	<u>\$128,404.40</u>	<u>\$33.00</u>	<u>\$30,360.00</u>	<u>\$33.96</u>	<u>\$31,243.20</u>	<u>\$36.19</u>	<u>\$33,294.80</u>
37.	Blauer, Style # 8372 ArmorSkin, S/S, PolyBlend Street Shirt w/ 3 button center front placket- Color: Black - Size: Medium	560	<u>\$139.57</u>	<u>\$78,159.20</u>	<u>\$33.00</u>	<u>\$18,480.00</u>	<u>\$33.96</u>	<u>\$19,017.60</u>	<u>\$36.19</u>	<u>\$20,266.40</u>
38.	Blauer, Style # 8372 ArmorSkin, S/S, Poly Blend Street Shirt w/ 3 button center front placket- Color: Black - Size: Small	220	<u>\$139.57</u>	<u>\$30,705.40</u>	<u>\$33.00</u>	<u>\$7,260.00</u>	<u>\$33.96</u>	<u>\$7,471.20</u>	<u>\$36.19</u>	<u>\$7,961.80</u>
39.	Blauer, Style # 8372 ArmorSkin, S/S, PolyBlend Street Shirt w/ 3 button center front placket- Color: Black - Size: XS	100	<u>\$139.57</u>	<u>\$13,957.00</u>	<u>\$33.00</u>	<u>\$3,300.00</u>	<u>\$33.96</u>	<u>\$3,396.00</u>	<u>\$36.19</u>	<u>\$3,619.00</u>
40.	Blauer, Style # 8372 ArmorSkin, S/S, Poly Blend Street Shirt w/ 3 button center front placket- Color: Black - Size: X-Large	360	<u>\$139.57</u>	<u>\$50,245.20</u>	<u>\$33.00</u>	<u>\$11,880.00</u>	<u>\$33.96</u>	<u>\$12,225.60</u>	<u>\$36.19</u>	<u>\$13,028.40</u>
41.	Blauer, Style # 8371 Long Sleeve - ArmorSkin, S/S, Poly Blend Street Shirt w/ 3 button center front placket- Color: Black - Size: 2X-Large	120	<u>\$139.57</u>	<u>\$16,748.40</u>	<u>\$40.00</u>	<u>\$4,800.00</u>	<u>\$36.36</u>	<u>\$4,363.20</u>	<u>\$43.94</u>	<u>\$5,272.80</u>
42.	Blauer, Style # 8371 - ArmorSkin, L/S, Poly Blend Street Shirt w/ 3 button center front placket- Color: Black - Size: 3X-Large	28	<u>\$139.57</u>	<u>\$3,907.96</u>	<u>\$43.50</u>	<u>\$1,218.00</u>	<u>\$36.36</u>	<u>\$1,018.08</u>	<u>\$47.93</u>	<u>\$1,342.04</u>



		COMPANY		SAFETY IPPLY	GAL	LS, LLC.	NAI	FECO	1	A POLICE IBUTORS
ITEM NO.	COMMODITIES OR SERVICES	EST. QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
43.	Blauer, Style # 8371 ArmorSkin, L/S, Poly Blend Street Shirt w/ 3 button center front placket- Color: Black - Size: 4X-Large	28	<u>\$139.57</u>	<u>\$3,907.96</u>	<u>\$47.50</u>	<u>\$1,330.00</u>	<u>\$36.36</u>	<u>\$1,018.08</u>	<u>\$51.93</u>	<u>\$1,454.04</u>
44.	Blauer, Style # 8371 ArmorSkin, L/S, Poly Blend Street Shirt w/ 3 button center front placket- Color: Black - Size: Large	920	<u>\$139.57</u>	<u>\$128,404.40</u>	<u>\$36.50</u>	<u>\$33,580.00</u>	<u>\$36.36</u>	<u>\$33,451.20</u>	<u>\$39.94</u>	<u>\$36,744.80</u>
45.	Blauer, Style # 8371 ArmorSkin, L/S, PolyBlend Street Shirt w/ 3 button center front placket- Color: Black - Size: Medium	560	<u>\$139.57</u>	<u>\$78,159.20</u>	<u>\$36.50</u>	<u>\$20,440.00</u>	<u>\$36.36</u>	<u>\$20,361.60</u>	<u>\$39.94</u>	<u>\$22,366.40</u>
46.	Blauer, Style # 8371 ArmorSkin, L/S, Poly Blend Street Shirt w/ 3 button center front placket- Color: Black - Size: Small	220	<u>\$139.57</u>	<u>\$30,705.40</u>	<u>\$36.50</u>	<u>\$8,030.00</u>	<u>\$36.36</u>	<u>\$7,999.20</u>	<u>\$39.94</u>	<u>\$8,786.80</u>
47.	Blauer, Style # 8371 ArmorSkin, L/S, PolyBlend Street Shirt w/ 3 button center front placket- Color: Black - Size: X-Large	360	<u>\$139.57</u>	<u>\$50,245.20</u>	<u>\$36.50</u>	<u>\$13,140.00</u>	<u>\$36.36</u>	<u>\$13,089.60</u>	<u>\$39.94</u>	<u>\$14,378.40</u>
48.	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: XS Short	10	<u>\$139.57</u>	<u>\$1,395.70</u>	<u>\$76.00</u>	<u>\$760.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$77.93</u>	<u>\$779.30</u>
49.	Blauer, Style # 8370 ArmorSkin, S/S, PolyBlend Outer Vest Carrier - Color: Black - Size: XS Reg	10	<u>\$139.57</u>	<u>\$1,395.70</u>	<u>\$76.00</u>	<u>\$760.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$77.93</u>	<u>\$779.30</u>
50.	Blauer, Style # 8370 ArmorSkin, S/S, PolyBlend Outer Vest Carrier - Color: Black - Size: XS Tall	10	<u>\$139.57</u>	<u>\$1,395.70</u>	<u>\$76.00</u>	<u>\$760.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$77.93</u>	<u>\$779.30</u>



		COMPANY		SAFETY IPPLY	GAL	LS, LLC.	NAI	FECO		A POLICE IBUTORS
ITEM NO.	COMMODITIES OR SERVICES	EST. QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
51.	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: XS/SM Short	10	<u>\$139.57</u>	<u>\$1,395.70</u>	<u>\$76.00</u>	<u>\$760.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$77.93</u>	<u>\$779.30</u>
52.	Blauer, Style # 8370 ArmorSkin, S/S, PolyBlend Outer Vest Carrier - Color: Black - Size: XS/SM Reg	10	<u>\$139.57</u>	<u>\$1,395.70</u>	<u>\$76.00</u>	<u>\$760.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$77.93</u>	<u>\$779.30</u>
53.	Blauer, Style # 8370 ArmorSkin, S/S, PolyBlend Outer Vest Carrier - Color: Black - Size: XS/SM Tall	10	<u>\$139.57</u>	<u>\$1,395.70</u>	<u>\$76.00</u>	<u>\$760.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$77.93</u>	<u>\$779.30</u>
54.	Blauer, Style # 8370 ArmorSkin, S/S, PolyBlend Outer Vest Carrier - Color: Black - Size: SM Short	10	<u>\$139.57</u>	<u>\$1,395.70</u>	<u>\$76.00</u>	<u>\$760.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$77.93</u>	<u>\$779.30</u>
55.	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: SM Reg	10	<u>\$139.57</u>	<u>\$1,395.70</u>	<u>\$76.00</u>	<u>\$760.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$77.93</u>	<u>\$779.30</u>
56.	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: SM Tall	10	<u>\$139.57</u>	<u>\$1,395.70</u>	<u>\$76.00</u>	<u>\$760.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$77.93</u>	<u>\$779.30</u>
57.	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: S/M Short	10	<u>\$139.57</u>	<u>\$1,395.70</u>	<u>\$76.00</u>	<u>\$760.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$77.93</u>	<u>\$779.30</u>
58.	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: S/M Reg	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$76.00</u>	<u>\$2,280.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$77.93</u>	<u>\$2,337.90</u>
59.	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: S/M Tall	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$76.00</u>	<u>\$2,280.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$77.93</u>	<u>\$2,337.90</u>



		COMPANY		SAFETY PPLY	GAL	LS, LLC.	NAI	FECO		A POLICE IBUTORS
ITEM NO.	COMMODITIES OR SERVICES	EST. QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
60.	Blauer, Style # 8370 ArmorSkin, S/S, PolyBlend Outer Vest Carrier - Color: Black - Size: M Short	30	\$139.57	<u>\$4,187.10</u>	<u>\$76.00</u>	\$2,280.00	<u>N/B</u>	<u>N/B</u>	<u>\$77.93</u>	<u>\$2,337.90</u>
61.	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: M Reg	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$76.00</u>	<u>\$2,280.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$77.93</u>	<u>\$2,337.90</u>
62.	Blauer, Style # 8370 ArmorSkin, S/S, PolyBlend Outer Vest Carrier - Color: Black - Size: M Tall	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$76.00</u>	<u>\$2,280.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$77.93</u>	<u>\$2,337.90</u>
63.	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: M/L Short	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$76.00</u>	<u>\$2,280.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$77.93</u>	<u>\$2,337.90</u>
64.	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: M/L Regular	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$76.00</u>	<u>\$2,280.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$77.93</u>	<u>\$2,337.90</u>
65.	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: M/L Tall	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$76.00</u>	<u>\$2,280.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$77.93</u>	<u>\$2,337.90</u>
66.	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: L Short	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$76.00</u>	<u>\$2,280.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$77.93</u>	<u>\$2,337.90</u>
67.	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: L Reg	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$76.00</u>	<u>\$2,280.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$77.93</u>	<u>\$2,337.90</u>
68.	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: L Tall	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$76.00</u>	<u>\$2,280.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$77.93</u>	<u>\$2,337.90</u>



		COMPANY		SAFETY PPLY	GAL	LS, LLC.	NAI	FECO		A POLICE IBUTORS
ITEM NO.	COMMODITIES OR SERVICES	EST. QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
69.	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: L/XL Short	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$76.00</u>	<u>\$2,280.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$77.93</u>	<u>\$2,337.90</u>
70.	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: L/XL Reg	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$76.00</u>	<u>\$2,280.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$77.93</u>	<u>\$2,337.90</u>
71.	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black – Size: L/XL Tall	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$76.00</u>	<u>\$2,280.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$77.93</u>	<u>\$2,337.90</u>
72.	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: XL Short	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$76.00</u>	<u>\$2,280.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$77.93</u>	<u>\$2,337.90</u>
73.	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: XL Reg	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$76.00</u>	<u>\$2,280.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$77.93</u>	<u>\$2,337.90</u>
74.	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: XL Tall	20	<u>\$139.57</u>	<u>\$2,791.40</u>	<u>\$76.00</u>	<u>\$1,520.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$77.93</u>	<u>\$1,558.60</u>
75.	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: 2XL Short	10	<u>\$139.57</u>	<u>\$1,395.70</u>	<u>\$84.00</u>	<u>\$840.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$85.73</u>	<u>\$857.30</u>
76.	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: 2XL Reg	10	<u>\$139.57</u>	<u>\$1,395.70</u>	<u>\$84.00</u>	<u>\$840.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$85.73</u>	<u>\$857.30</u>
77.	Blauer, Style # 8370 ArmorSkin, S/S, PolyBlend Outer Vest Carrier - Color: Black - Size: 2XL Tall	10	<u>\$139.57</u>	<u>\$1,395.70</u>	<u>\$84.00</u>	<u>\$840.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$85.73</u>	<u>\$857.30</u>



# ITB NO.: 20-101306

		COMPANY		SAFETY PPLY	GAL	LS, LLC.	NAI	FECO	1	A POLICE IBUTORS
ITEM	COMMODITIES OR SERVICES	EST.	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL
NO.		QUANTITY	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
78.	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: 3XL Short	10	<u>\$139.57</u>	<u>\$1,395.70</u>	<u>\$92.00</u>	<u>\$920.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$93.52</u>	<u>\$935.20</u>
79.	Blauer, Style # 8370 ArmorSkin, S/S, PolyBlend Outer Vest Carrier - Color: Black - Size: 3XL Reg	10	<u>\$139.57</u>	<u>\$1,395.70</u>	<u>\$92.00</u>	<u>\$920.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$93.52</u>	<u>\$935.20</u>
80.	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: 3XL Tall	10	<u>\$139.57</u>	<u>\$1,395.70</u>	<u>\$92.00</u>	<u>\$920.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$93.52</u>	<u>\$935.20</u>
81.	Blauer, Style # 8370 ArmorSkin, S/S, PolyBlend Outer Vest Carrier - Color: Black - Size: 4XL Short	10	<u>\$139.57</u>	<u>\$1,395.70</u>	<u>\$99.00</u>	<u>\$990.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$101.31</u>	<u>\$1,013.10</u>
82.	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: 4XL Reg	10	<u>\$139.57</u>	<u>\$1,395.70</u>	<u>\$99.00</u>	<u>\$990.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$101.31</u>	<u>\$1,013.10</u>
83.	Blauer, Style # 8370 ArmorSkin, S/S, PolyBlend Outer Vest Carrier - Color: Black - Size: 4XL Tall	10	<u>\$139.57</u>	<u>\$1,395.70</u>	<u>\$99.00</u>	<u>\$990.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$101.31</u>	<u>\$1,013.10</u>
84.	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: 5XL Short	10	<u>\$139.57</u>	<u>\$1,395.70</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$136.38</u>	<u>\$1,363.80</u>
85.	Blauer, Style # 8370 ArmorSkin, S/S, PolyBlend Outer Vest Carrier - Color: Black - Size: 5XL Reg	10	<u>\$139.57</u>	<u>\$1,395.70</u>	<u>\$132.00</u>	<u>\$1,320.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$136.38</u>	<u>\$1,363.80</u>
86.	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: 5XL Tall	10	<u>\$139.57</u>	<u>\$1,395.70</u>	<u>\$132.00</u>	<u>\$1,320.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$136.38</u>	<u>\$1,363.80</u>



# ITB NO.: 20-101306

		COMPANY		SAFETY PPLY	GAL	LS, LLC.	NAI	FECO	1	A POLICE IBUTORS
ITEM	COMMODITIES OR SERVICES	EST.	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL
NO.		QUANTITY	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
87.	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size XS Short	10	<u>\$139.57</u>	<u>\$1,395.70</u>	<u>\$99.30</u>	<u>\$993.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$93.00</u>	<u>\$930.00</u>
88.	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size XS Reg	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$99.30</u>	<u>\$2,979.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$93.00</u>	<u>\$2,790.00</u>
89.	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size XS Tall	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$99.30</u>	<u>\$2,979.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$93.00</u>	<u>\$2,790.00</u>
90.	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size XS/SM Short	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$99.30</u>	<u>\$2,979.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$93.00</u>	<u>\$2,790.00</u>
91.	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size XS/SM Reg	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$99.30</u>	<u>\$2,979.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$93.00</u>	<u>\$2,790.00</u>
92.	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size XS/SM Tall	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$99.30</u>	<u>\$2,979.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$93.00</u>	<u>\$2,790.00</u>
93.	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size SM Short	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$99.30</u>	<u>\$2,979.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$93.00</u>	<u>\$2,790.00</u>
94.	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size SM Reg	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$99.30</u>	<u>\$2,979.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$93.00</u>	<u>\$2,790.00</u>
	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size SM Tall	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$99.30</u>	<u>\$2,979.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$93.00</u>	<u>\$2,790.00</u>
96.	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size S/M Short	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$99.30</u>	<u>\$2,979.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$93.00</u>	<u>\$2,790.00</u>



		COMPANY		SAFETY IPPLY	GAL	LS, LLC.	NAI	FECO		A POLICE IBUTORS
ITEM NO.	COMMODITIES OR SERVICES	EST. QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
97.	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size S/M Reg	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$99.30</u>	<u>\$2,979.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$93.00</u>	<u>\$2,790.00</u>
98.	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size S/M Tall	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$99.30</u>	<u>\$2,979.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$93.00</u>	<u>\$2,790.00</u>
99.	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size M Short	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$99.30</u>	<u>\$2,979.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$93.00</u>	<u>\$2,790.00</u>
100.	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size M Reg	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$99.30</u>	<u>\$2,979.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$93.00</u>	<u>\$2,790.00</u>
101.	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size M Tall	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$99.30</u>	<u>\$2,979.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$93.00</u>	<u>\$2,790.00</u>
102.	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size M/L Short	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$99.30</u>	<u>\$2,979.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$93.00</u>	<u>\$2,790.00</u>
103.	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size M/L Reg	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$99.30</u>	<u>\$2,979.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$93.00</u>	<u>\$2,790.00</u>
104.	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size M/L Tall	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$99.30</u>	<u>\$2,979.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$93.00</u>	<u>\$2,790.00</u>
105.	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size L Short	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$99.30</u>	<u>\$2,979.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$93.00</u>	<u>\$2,790.00</u>
106.	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size L Reg	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$99.30</u>	<u>\$2,979.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$93.00</u>	<u>\$2,790.00</u>
107.	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size L Tall	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$99.30</u>	<u>\$2,979.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$93.00</u>	<u>\$2,790.00</u>



		COMPANY		SAFETY IPPLY	GAL	LS, LLC.	NAI	FECO		A POLICE IBUTORS
ITEM NO.	COMMODITIES OR SERVICES	EST. QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
108.	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size L/XL Short	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$99.30</u>	<u>\$2,979.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$93.00</u>	<u>\$2,790.00</u>
	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size L/XL Reg	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$99.30</u>	<u>\$2,979.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$93.00</u>	<u>\$2,790.00</u>
110.	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size L/XL Tall	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$99.30</u>	<u>\$2,979.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$93.00</u>	<u>\$2,790.00</u>
111.	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size XL Short	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$99.30</u>	<u>\$2,979.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$93.00</u>	<u>\$2,790.00</u>
112.	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size XL Reg	30	<u>\$139.57</u>	<u>\$4,187.10</u>	<u>\$99.30</u>	<u>\$2,979.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$93.00</u>	<u>\$2,790.00</u>
113.	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size XL Tall	20	<u>\$139.57</u>	<u>\$2,791.40</u>	<u>\$99.30</u>	<u>\$1,986.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$93.00</u>	<u>\$1,860.00</u>
	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size 2XL Short	10	<u>\$139.57</u>	<u>\$1,395.70</u>	<u>\$109.30</u>	<u>\$1,093.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$102.30</u>	<u>\$1,023.00</u>
	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size 2XL Reg	10	<u>\$139.57</u>	<u>\$1,395.70</u>	<u>\$109.30</u>	<u>\$1,093.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$102.30</u>	<u>\$1,023.00</u>
116.	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size 2XL Tall	10	<u>\$139.57</u>	<u>\$1,395.70</u>	<u>\$109.30</u>	<u>\$1,093.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$102.30</u>	<u>\$1,023.00</u>
117.	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size 3XL Short	10	<u>\$139.57</u>	<u>\$1,395.70</u>	<u>\$119.30</u>	<u>\$1,193.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$111.60</u>	<u>\$1,116.00</u>



		COMPANY		SAFETY PPLY	GAL	LS, LLC.	NAI	FECO	1	A POLICE IBUTORS
ITEM NO.	COMMODITIES OR SERVICES	EST. QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
118.	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size 3XL Reg	10	<u>\$139.57</u>	<u>\$1,395.70</u>	<u>\$119.30</u>	<u>\$1,193.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$111.60</u>	<u>\$1,116.00</u>
119.	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size 3XL Tall	10	<u>\$139.57</u>	<u>\$1,395.70</u>	<u>\$119.30</u>	<u>\$1,193.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$111.60</u>	<u>\$1,116.00</u>
120.	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size 4XL Short	10	<u>\$139.57</u>	<u>\$1,395.70</u>	<u>\$129.30</u>	<u>\$1,293.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$120.90</u>	<u>\$1,209.00</u>
121.	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size 4XL Reg	10	<u>\$139.57</u>	<u>\$1,395.70</u>	<u>\$129.30</u>	<u>\$1,293.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$120.90</u>	<u>\$1,209.00</u>
122.	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size 4XL Tall	10	<u>\$139.57</u>	<u>\$1,395.70</u>	<u>\$129.30</u>	<u>\$1,293.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$120.90</u>	<u>\$1,209.00</u>
123.	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size 5XL Short	10	<u>\$139.57</u>	<u>\$1,395.70</u>	<u>\$173.50</u>	<u>\$1,735.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$162.75</u>	<u>\$1,627.50</u>
124.	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size 5XL Reg	10	<u>\$139.57</u>	<u>\$1,395.70</u>	<u>\$173.50</u>	<u>\$1,735.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$162.75</u>	<u>\$1,627.50</u>
125.	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size 5XL Tall	10	<u>\$139.57</u>	<u>\$1,395.70</u>	<u>\$173.50</u>	<u>\$1,735.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$162.75</u>	<u>\$1,627.50</u>
126.	Galls S/S G-Tac Performance Polo, Style # ST125, Size: XS, Colors: All Offered	25	<u>\$19.98</u>	<u>\$499.50</u>	<u>\$26.00</u>	<u>\$650.00</u>	<u>\$29.90</u>	<u>\$747.50</u>	<u>N/B</u>	<u>N/B</u>
127.	Galls S/S G-Tac Performance Polo, Style # ST125, Size: S, Colors: All Offered	25	<u>\$19.98</u>	<u>\$499.50</u>	<u>\$26.00</u>	<u>\$650.00</u>	<u>\$29.90</u>	<u>\$747.50</u>	<u>N/B</u>	<u>N/B</u>



## ITB NO.: 20-101306

		COMPANY		SAFETY IPPLY	GAL	LS, LLC.	NAI	FECO		A POLICE IBUTORS
ITEM NO.	COMMODITIES OR SERVICES	EST. QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
128.	Galls S/S G-Tac Performance Polo, Style # ST125, Size: M, Colors: All Offered	25	<u>\$19.98</u>	<u>\$499.50</u>	<u>\$26.00</u>	<u>\$650.00</u>	<u>\$29.90</u>	<u>\$747.50</u>	<u>N/B</u>	<u>N/B</u>
129.	Galls S/S G-Tac Performance Polo, Style # ST125, Size: L, Colors: All Offered	25	<u>\$19.98</u>	<u>\$499.50</u>	<u>\$26.00</u>	<u>\$650.00</u>	<u>\$29.90</u>	<u>\$747.50</u>	<u>N/B</u>	<u>N/B</u>
130.	Galls S/S G-Tac Performance Polo, Style # ST125, Size: XL, Colors: All Offered	25	<u>\$19.98</u>	<u>\$499.50</u>	<u>\$26.00</u>	<u>\$650.00</u>	<u>\$29.90</u>	<u>\$747.50</u>	<u>N/B</u>	<u>N/B</u>
131.	Galls S/S G-Tac Performance Polo, Style # ST125, Size: 2XL, Colors: All Offered	25	<u>\$19.98</u>	<u>\$499.50</u>	<u>\$26.00</u>	<u>\$650.00</u>	<u>\$29.90</u>	<u>\$747.50</u>	<u>N/B</u>	<u>N/B</u>
132.	Galls S/S G-Tac Performance Polo, Style # ST125, Size: 3XL, Colors: All Offered	25	<u>\$19.98</u>	<u>\$499.50</u>	<u>\$26.00</u>	<u>\$650.00</u>	<u>\$29.90</u>	<u>\$747.50</u>	<u>N/B</u>	<u>N/B</u>
133.	Galls S/S G-Tac Performance Polo, Style # ST125, Size: 4XL, Colors: All Offered	25	<u>\$19.98</u>	<u>\$499.50</u>	<u>\$26.00</u>	<u>\$650.00</u>	<u>\$29.90</u>	<u>\$747.50</u>	<u>N/B</u>	<u>N/B</u>
134.	TYR Tactical PICO-MV Plate Carrier System, TXP3A, Size TBD, Color: Ranger Green, no substitution	15	<u>\$2,595.00</u>	<u>\$38,925.00</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
135.	TYR Tactical Ballistic Plate for PICO MV Plate Carrier - Hard Armor Level 3+ I/C, Size TBD, Color: Black, no substitution	30	<u>\$325.00</u>	<u>\$9,750.00</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
136.	TYR Tactical EPIC Male Ballistic Collar / Yoke 1.5 " Style TXP3A, Size TBD, Color: Ranger Green, no substitution	15	included with #134	<u>\$0.00</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>



## ITB NO.: 20-101306

		COMPANY		SAFETY PPLY	GAL	LS, LLC.	NAI	FECO	SMYRNA POLICI DISTRIBUTORS	
ITEM NO.	COMMODITIES OR SERVICES	EST. QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
137.	TYR Tactical EPIC Male Ballistic Throat, Style TXP3A, Size TBD, Color: Ranger Green, no substitution	15	included with #134	<u>\$0.00</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
138.	TYR Tactical Ballistic Bicep/Deltoid Upper Arm Protection, Style TXP3A, Color: Ranger Green, (unit = set) no substitution	15	included with #134	<u>\$0.00</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
139.	TYR Tactical Base Belt with 2" Cobra Buckle, Size TBD, Color: Ranger Green, no substitution	15	<u>\$395.00</u>	<u>\$5,925.00</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
140.	TYR Tactical Brokos Belt = TXP3A, Size TBD, Color: Ranger Green, no substitution	15	included with #134	<u>\$0.00</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
141.	TYR Tactical Low Roll Pouch, Color: Ranger Green, no substitution	15	<u>\$49.50</u>	<u>\$742.50</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
142.	TYR Tactical Ordinance/Breaching Pouch, Horizontal Gas Mask, Color: Ranger Green, no substitution	30	<u>\$72.90</u>	<u>\$2,187.00</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
143.	TYR Tactical Radio Pouch/Adapter – Lower Back radio, Color: Ranger Green, (unit=set) no substitution	15	<u>\$45.00</u>	<u>\$675.00</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
144.	TYR Tactical General Purpose Pouch, size small 5"x5", Color: Ranger Green, no substitution	15	<u>\$36.00</u>	<u>\$540.00</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
145.	TYR Tactical Ordinance/Breaching Pouch, Small Dump, Color: Ranger Green, no substitution	15	<u>\$45.00</u>	<u>\$675.00</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>



		COMPANY		SAFETY IPPLY	GAL	LS, LLC.	NAI	FECO	1	A POLICE IBUTORS
ITEM NO.	COMMODITIES OR SERVICES	EST. QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
146.	TYR Tactical Pistol Magazine Pouch, Triple 9MM Color: Ranger Green, no substitution	15	<u>\$70.00</u>	<u>\$1,050.00</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
147.	Walls Men's Poplin Coverall, Style# 1216, Sizes: 50 – 52, Length: Regular, Colors: Black or Navy, no substitutes.	20	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$39.75</u>	<u>\$795.00</u>	<u>N/B</u>	<u>N/B</u>
148.	Walls Men's Poplin Coverall, Style# 1216, Sizes: 40 – 48, Length: Tall, Colors: Black or Navy, no substitutes.	30	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$37.75</u>	<u>\$1,132.50</u>	<u>N/B</u>	<u>N/B</u>
149.	Walls Men's Poplin Coverall, Style# 1216, Sizes: 50 - 52, Length: Tall, Colors: Black or Navy, no substitutes.	20	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$39.75</u>	<u>\$795.00</u>	<u>N/B</u>	<u>N/B</u>
150.	Edwards 1525-091 Unisex Soft Touch LS Blended Pique w/pocket, Embroidery of either gold or silver, Sizes: S – XL, Color: Heather Gray, Royal or Hunter Green or acceptable equal. MANUFACTURER NAME & NO.	100	<u>N/B</u>	<u>N/B</u>	<u>\$28.25</u>	<u>\$2,825.00</u>	<u>\$19.75</u>	<u>\$1,975.00</u>	<u>\$21.59</u>	<u>\$2,159.00</u>
	Edwards 1525-091 Unisex Soft Touch LS Blended Pique w/pocket, Embroidery of either gold or silver, Size: 2XL-3XL, Colors: Marina Blue, Heather Gray, Royal, Hunter Green or acceptable equal.	15	<u>N/B</u>	<u>N/B</u>	<u>\$30.50</u>	<u>\$457.50</u>	<u>\$24.40</u>	<u>\$366.00</u>	<u>\$25.00</u>	<u>\$375.00</u>



		COMPANY		SAFETY IPPLY	GAL	LS, LLC.	NAI	FECO	1	A POLICE IBUTORS
ITEM NO.	COMMODITIES OR SERVICES	EST. QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
	Edwards 1525-091 Unisex Soft Touch LS Blended Pique w/pocket, Embroidery of either gold or silver, Sizes: 4XL, Colors: Marina Blue, Heather Gray, Royal or Hunter Green or acceptable equal.	21	<u>N/B</u>	<u>N/B</u>	<u>\$31.75</u>	<u>\$666.75</u>	<u>\$24.40</u>	<u>\$512.40</u>	<u>\$25.00</u>	<u>\$525.00</u>
153.	Edwards 1525-091 Unisex Soft Touch SS Blended Pique w/pocket, Embroidery of either gold or silver, Sizes: S-XL, Colors: Marina Blue, Heather Gray, Royal or Hunter Green or acceptable equal.	25	<u>N/B</u>	<u>N/B</u>	<u>\$24.00</u>	<u>\$600.00</u>	<u>\$17.00</u>	<u>\$425.00</u>	<u>\$17.00</u>	<u>\$425.00</u>
154.	Safariland Level IIIA Concealable Carrier – Black M1 – 2 with each vest	4000	<u>\$78.82</u>	\$315,280.00	<u>\$85.00</u>	<u>\$340,000.00</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
	Safariland Body Armor Soft Trauma Plate 5" X 8" – No Substitutes-	2000	<u>\$6.50</u>	<u>\$13,000.00</u>	<u>\$25.00</u>	<u>\$50,000.00</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
156.	Safariland Second Chance Summit Series Ballistic Vest, Style# SM01, Threat Level III A, BA-3Aoos-SM01, soft concealable body armor, no substitutes. {ordered vest plates but no carriers or trauma plate}	2000	<u>\$658.82</u>	<u>\$1,317,640.00</u>	<u>\$935.48</u>	<u>\$1,870,960.00</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
	Blauer Style #8371 ArmorSkin, L/S Polyester Street Shirt w/ 3 button center front placket – Color: Black – Size: XS	150	<u>\$139.57</u>	<u>\$20,935.50</u>	<u>\$36.50</u>	<u>\$5,475.00</u>	<u>\$36.36</u>	<u>\$5,454.00</u>	<u>\$39.94</u>	<u>\$5,991.00</u>



		COMPANY		SAFETY PPLY	GAL	LS, LLC.	NAFECO		SMYRNA POLICE DISTRIBUTORS	
ITEM NO.	COMMODITIES OR SERVICES	EST. QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
158.	Blauer Style #8370 ArmorSkin, S/S, Polyester Outer Vest Carrier – Color: Black – Size: Medium Tall	100	<u>\$139.57</u>	<u>\$13,957.00</u>	<u>\$75.00</u>	<u>\$7,500.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$77.93</u>	<u>\$7,793.00</u>
159.	Blauer Style #8370 ArmorSkin, S/S, Polyester Outer Vest Carrier – Color: Black – Size: Medium/Large Short	100	<u>\$139.57</u>	<u>\$13,957.00</u>	<u>\$75.00</u>	<u>\$7,500.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$77.93</u>	<u>\$7,793.00</u>
160.	The Command Shirt by Flying Cross, Style#, 87R78Z10, men's short sleeve, 100% Polyester, Sizes: 14.5 - 17.5, Color: Black, no substitutes.	300	<u>N/B</u>	<u>N/B</u>	<u>\$32.08</u>	<u>\$9,624.00</u>	<u>\$41.50</u>	<u>\$12,450.00</u>	<u>N/B</u>	<u>N/B</u>
161.	The Command Shirt by Flying Cross, Style#, 87R78Z10, men's short sleeve, 100% Polyester, Sizes: 18 - 18.5, Color: Black, no substitutes.	300	<u>N/B</u>	<u>N/B</u>	<u>\$32.08</u>	<u>\$9,624.00</u>	<u>\$41.50</u>	<u>\$12,450.00</u>	<u>N/B</u>	<u>N/B</u>
162.	The Command Shirt by Flying Cross, Style#, 87R78Z10, men's short sleeve, 100% Polyester, Sizes: 19 - 19.5, Color: Black, no substitutes.	200	<u>N/B</u>	<u>N/B</u>	<u>\$32.08</u>	<u>\$6,416.00</u>	<u>\$41.50</u>	<u>\$8,300.00</u>	<u>N/B</u>	<u>N/B</u>
163.	The Command Shirt by Flying Cross, Style#, 87R78Z10, men's short sleeve, 100% Polyester, Sizes: 20 - 20.5, Color: Black, no substitutes	200	<u>N/B</u>	<u>N/B</u>	<u>\$32.08</u>	<u>\$6,416.00</u>	<u>\$41.50</u>	<u>\$8,300.00</u>	<u>N/B</u>	<u>N/B</u>



		COMPANY		SAFETY PPLY	GAL	LS, LLC.	NAI	FECO		A POLICE IBUTORS
ITEM NO.	COMMODITIES OR SERVICES	EST. QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
164.	The Command Shirt by Flying Cross, Style#, 87R78Z10, men's short sleeve, 100% Polyester, Sizes: 21 - 21.5, Color: Black, no substitutes		<u>N/B</u>	<u>N/B</u>	<u>\$32.08</u>	<u>\$6,416.00</u>	\$41.50	<u>\$8,300.00</u>	<u>N/B</u>	<u>N/B</u>
165.	The Command Shirt by Flying Cross, Style#, 87R78Z10, men's short sleeve, 100% Polyester, Sizes: 22 - 22.5, Color: Black, no substitutes.	200	<u>N/B</u>	<u>N/B</u>	<u>\$32.08</u>	<u>\$6,416.00</u>	<u>\$41.50</u>	<u>\$8,300.00</u>	<u>N/B</u>	<u>N/B</u>
166.	The Command Shirt by Flying Cross, Style#, 34W78Z10, men's long sleeve, 100% Polyester, Sizes: 32 - 33, Color: Black, no substitutes.	1000	<u>N/B</u>	<u>N/B</u>	<u>\$37.15</u>	<u>\$37,150.00</u>	<u>\$48.10</u>	<u>\$48,100.00</u>	<u>N/B</u>	<u>N/B</u>
167.	The Command Shirt by Flying Cross, Style#, 34W78Z10, men's long sleeve, 100% Polyester, Sizes: 34 - 35, Color: Black, no substitutes.	200	<u>N/B</u>	<u>N/B</u>	<u>\$37.15</u>	<u>\$7,430.00</u>	<u>\$48.10</u>	<u>\$9,620.00</u>	<u>N/B</u>	<u>N/B</u>
168.	The Command Shirt by Flying Cross, Style#, 34W78Z10, men's long sleeve, 100% Polyester, Sizes: 36 - 37, Color: Black, no substitutes.	200	<u>N/B</u>	<u>N/B</u>	<u>\$37.15</u>	<u>\$7,430.00</u>	<u>\$48.10</u>	<u>\$9,620.00</u>	<u>N/B</u>	<u>N/B</u>
169.	The Command Shirt by Flying Cross, Style#, 34W78Z10, men's long sleeve, 100% Polyester, Sizes: 38 - 39, Color: Black, no substitutes.	200	<u>N/B</u>	<u>N/B</u>	<u>\$37.15</u>	<u>\$7,430.00</u>	<u>\$48.10</u>	<u>\$9,620.00</u>	<u>N/B</u>	<u>N/B</u>



# ITB NO.: 20-101306

		COMPANY		SAFETY PPLY	GAL	LS, LLC.	NAI	FECO		A POLICE IBUTORS
ITEM NO.	COMMODITIES OR SERVICES	EST. QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
170.	The Command Shirt by Flying Cross, Style#, 177R78Z10, women's short sleeve, 100% Polyester, Sizes: 32-52, Color: Black, no substitutes.	1000	<u>N/B</u>	<u>N/B</u>	<u>\$32.08</u>	<u>\$32,080.00</u>	<u>\$41.50</u>	<u>\$41,500.00</u>	<u>N/B</u>	<u>N/B</u>
171.	The Command Shirt by Flying Cross, Style#, 12R78Z, women's long sleeve, 100% Polyester, Sizes: 32-52, Color: Black (10), no substitutes.	200	<u>N/B</u>	<u>N/B</u>	<u>\$37.15</u>	<u>\$7,430.00</u>	<u>\$48.10</u>	<u>\$9,620.00</u>	<u>N/B</u>	<u>N/B</u>
172.	Propper BDU Coat – Battle Rip 65/35 Ripstop. 65% Polyester 35% Cotton: Style #F545438 – Color: Black – Sizes XS Reg through 4XL	500	<u>\$23.58</u>	<u>\$11,790.00</u>	<u>\$28.65</u>	<u>\$14,325.00</u>	<u>\$32.00</u>	<u>\$16,000.00</u>	<u>\$29.54</u>	<u>\$14,770.00</u>
173.	Edwards 1525-091 Unisex Soft Touch SS Blended Pique w/pocket, Embroidery of either gold or silver, Size: 2XL-3XL, Colors: Marina Blue, Heather Gray, Royal or Hunter Green or acceptable equal.	15	<u>N/B</u>	<u>N/B</u>	<u>\$30.50</u>	<u>\$457.50</u>	<u>\$19.75</u>	<u>\$296.25</u>	<u>\$19.67</u>	<u>\$295.05</u>
174.	Edwards 1525-091 Unisex Soft Touch SS Blended Pique w/pocket, Embroidery of either gold or silver, Sizes: 4XL, Colors: Marina Blue, Heather Gray, Royal or Hunter Green or acceptable equal.	21	<u>N/B</u>	<u>N/B</u>	<u>\$31.75</u>	<u>\$666.75</u>	<u>\$19.75</u>	<u>\$414.75</u>	<u>\$21.00</u>	<u>\$441.00</u>



		COMPANY		SAFETY IPPLY	GAL	LS, LLC.	NAI	NAFECO		A POLICE IBUTORS
ITEM NO.	COMMODITIES OR SERVICES	EST. QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
175.	Dickies Fleece Lined Hooded Nylon Jacket,Style # JC567, Sizes: S-2XL, Colors: Black or acceptable equal	21	<u>N/B</u>	<u>N/B</u>	<u>\$26.00</u>	<u>\$546.00</u>	<u>\$49.50</u>	<u>\$1,039.50</u>	<u>\$38.75</u>	<u>\$813.75</u>
176.	Dickies Fleece Lined Hooded Nylon Jacket, Style # JC567, Sizes: 3XL-5XL, Colors: Black or acceptable equal	25	<u>N/B</u>	<u>N/B</u>	<u>\$28.75</u>	<u>\$718.75</u>	<u>\$54.50</u>	<u>\$1,362.50</u>	<u>\$45.29</u>	<u>\$1,132.25</u>
177.	Blauer Gore-Tex Reversible Jacket w/screen Style #9691, Sizes: S-2XL, Color: Black, no substitutes	11	<u>N/B</u>	<u>N/B</u>	<u>\$240.00</u>	<u>\$2,640.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$194.00</u>	<u>\$2,134.00</u>
178.	Blauer Gore-Tex Shell Pants, Style# 9134, Sizes: S-2XL, Color: Black, no substitutes	11	<u>N/B</u>	<u>N/B</u>	<u>\$130.00</u>	<u>\$1,430.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$125.00</u>	<u>\$1,375.00</u>
179.	Blackinton Custom Jacket Badge, Style # B550Hi-Glo, no substitutes	4	<u>\$79.00</u>	<u>\$316.00</u>	<u>\$71.50</u>	<u>\$286.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$69.88</u>	<u>\$279.52</u>
180.	Blackinton Custom Jacket Badge, Style # B550RH, no substitutes.	8	<u>\$79.00</u>	<u>\$632.00</u>	<u>\$51.15</u>	<u>\$409.20</u>	<u>N/B</u>	<u>N/B</u>	<u>\$60.34</u>	<u>\$482.72</u>
181.	Blackinton Motorcycle Helmet Badge, Style # B949, no substitutes.	18	<u>\$71.75</u>	<u>\$1,291.50</u>	<u>\$64.85</u>	<u>\$1,167.30</u>	<u>N/B</u>	<u>N/B</u>	<u>\$59.00</u>	<u>\$1,062.00</u>
182.	Chippewa 17" Polishable Trooper Boot, Style #27950, Sizes: All available, Color: Black, no substitutes.	19	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$247.80</u>	<u>\$4,708.20</u>
183.	Blauer Gore-Tex Shell Pants, Style# 9134, Sizes: S-2XL, Color: Black, no substitutes	11	<u>N/B</u>	<u>N/B</u>	<u>\$130.00</u>	<u>\$1,430.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$125.00</u>	<u>\$1,375.00</u>



		COMPANY		DANA SAFETY SUPPLY		LS, LLC.	NAI	FECO	SMYRNA POLICH DISTRIBUTORS	
ITEM NO.	COMMODITIES OR SERVICES	EST. QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
184.	Blackinton Custom Jacket Badge, Style #B550Hi-Glo, no substitutes.	4	<u>\$79.00</u>	<u>\$316.00</u>	<u>\$71.50</u>	<u>\$286.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$69.88</u>	<u>\$279.52</u>
185.	Blackinton Custom Jacket Badge, Style # B550RH, no substitutes.	8	<u>\$79.00</u>	<u>\$632.00</u>	<u>\$51.15</u>	<u>\$409.20</u>	<u>N/B</u>	<u>N/B</u>	<u>\$60.34</u>	<u>\$482.72</u>
186.	Blackinton Motorcycle Helmet Badge, Style # B949, no substitutes.	18	<u>\$71.75</u>	<u>\$1,291.50</u>	<u>\$64.85</u>	<u>\$1,167.30</u>	<u>N/B</u>	<u>N/B</u>	<u>\$59.00</u>	<u>\$1,062.00</u>
187.	Chippewa 17" Polishable Trooper Boot, Style #27950, Sizes: All available, Color: Black, no substitutes.	19	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$247.80</u>	<u>\$4,708.20</u>
188.	Condor Summit soft shell jacket, Sizes: S- 2XL, Color; Olive Drab Green, Style 602, no substitutes.	12	<u>N/B</u>	<u>N/B</u>	<u>\$64.25</u>	<u>\$771.00</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
189.	Gibson And Barnes Nomex flying gloves, Style # EGN, Size: All available, Colors: Black or Green, no substitutes.	24	<u>N/B</u>	<u>N/B</u>	<u>\$37.76</u>	<u>\$906.12</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
190.	Gibson And Barnes Pilot Skull cap solid. Style # HBS1, Size: L, Colors: Black or Green, no substitutes.	24	<u>N/B</u>	<u>N/B</u>	<u>\$11.25</u>	<u>\$270.00</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>



# ITB NO.: 20-101306

		COMPANY		SAFETY PPLY	GALI	LS, LLC.	NAI	NAFECO		A POLICE IBUTORS
ITEM NO.	COMMODITIES OR SERVICES	EST. QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
191.	Transaero TacAir Mollie Survival Vest w/o extraction, style AMTC-V1036, (include pouches as standard order; Universal Weapons Holster (AMTC- V1042-BL) Radio Pouch (AMTC- P1060-BL), Magazine/Utility Pocket 2.6" x 6.25" (AMTC-P1040-BL), Cargo Pocket, 5.5" x 3" x1.5" (AMTC-P1041- BL), Floatation Collar (AMTC-R1044- BL), Color: Black, no substitutes.	6	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
192.	Transaero TacAir Mollie Survival Vest w/o extraction, style AMTC-V1036-CA , (include pouches as standard order; Universal Weapons Holster (AMTC- V1042-CA) Radio Pouch (AMTC- P1060-CA), Magazine/Utility Pocket 2.6" x 6.25" (AMTC-P1040-CA), Cargo Pocket, 5.5" x 3" x1.5" (AMTC- P1041-CA), Floatation Collar (AMTC- R1044-C, ALPS), Color: Green , no substitutes	6	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
	TOTAL BID AMOUNT (PUBLIC SAFETY: POLICE SERVICES) LINES 1-192		<u>\$2,650,553.38</u>		<u>\$2,877,583.12</u>		<u>\$421,577.42</u>		<u>\$469,580.95</u>	



		COMPANY		SAFETY PPLY	GAL	LS, LLC.	NAFECO		SMYRNA POLICE DISTRIBUTORS	
ITEM NO.	COMMODITIES OR SERVICES	EST. QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
		• • •	PU	BLIC SAFET	ГҮ: Е911	••			-	
193.	Women's Cornerstone Polo Long Sleeve, Style# CS411LS, includes embroidery w/ logo on left chest and right chest. Sizes: S –4XL, Colors: Dark Navy.	300	<u>N/B</u>	<u>N/B</u>	<u>\$36.75</u>	<u>\$11,025.00</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
194.	Women's Cornerstone Polo Shirt CS411 Short Sleeve S- 4XL Dark Navy, Includes embroidery w/ logo on left chest and right chest	200	<u>N/B</u>	<u>N/B</u>	<u>\$34.25</u>	<u>\$6,850.00</u>	<u>\$38.50</u>	<u>\$7,700.00</u>	<u>N/B</u>	<u>N/B</u>
195.	Women's Cornerstone Polo Shirt CS411L Long Sleeve S-4XL, Dark Navy, Includes embroidery w/ logo on left chest and right chest	300	<u>N/B</u>	<u>N/B</u>	<u>\$36.75</u>	<u>\$11,025.00</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
196.	Southeastern Men's Trousers # 9001 Sizes: 25-58 Color Navy	200	<u>N/B</u>	<u>N/B</u>	<u>\$38.50</u>	<u>\$7,700.00</u>	<u>\$33.70</u>	<u>\$6,740.00</u>	<u>N/B</u>	<u>N/B</u>
197.	511 Uniform Hat Style: 89260-724 Sizes: adjustable, Operator hat- embroidery front only Supervisor hat- embroidery front and back Color: Dark Navy	200	<u>N/B</u>	<u>N/B</u>	<u>\$12.00</u>	<u>\$2,400.00</u>	<u>\$12.90</u>	<u>\$2,580.00</u>	<u>\$18.58</u>	<u>\$3,716.00</u>
198.	Elbeco Women's trousers, Style # E9314LC, Sizes 2-26, COLOR; Navy	50	<u>N/B</u>	<u>N/B</u>	<u>\$36.28</u>	<u>\$1,814.00</u>	<u>\$42.00</u>	<u>\$2,100.00</u>	<u>N/B</u>	<u>N/B</u>
199.	Nissun Beanie Hat, Front E911 Logo, Style Knit, Color Navy	200	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$6.00</u>	<u>\$1,200.00</u>	<u>N/B</u>	<u>N/B</u>



	COMPANY		DANA SAFETY SUPPLY		GALI	LS, LLC.	NAI	FECO	SMYRNA POLICE DISTRIBUTORS	
ITEM NO.	COMMODITIES OR SERVICES	EST. QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
200.	Propper Men's Lightweight tactical Pants, Style F5252-50 Sizes: 23-39, inseam 29.5-32.5 Color: Coyote Brown	50	<u>\$29.08</u>	<u>\$1,454.00</u>	<u>\$26.80</u>	<u>\$1,340.00</u>	<u>\$32.00</u>	<u>\$1,600.00</u>	<u>\$34.00</u>	<u>\$1,700.00</u>
201.	Propper Men's Lightweight tactical Pants, Style F5252-50 Sizes: 40-55, Inseam: 29.5-32.5 Color: Coyote Brown	50	<u>\$29.08</u>	<u>\$1,454.00</u>	<u>\$26.80</u>	<u>\$1,340.00</u>	<u>\$32.00</u>	<u>\$1,600.00</u>	<u>\$34.00</u>	<u>\$1,700.00</u>
202.	Propper Women's Lightweight tactical Pants, Style F5254-50 Sizes: 2-16, Color: Coyote Brown	20	<u>\$29.08</u>	<u>\$581.60</u>	<u>\$26.80</u>	<u>\$536.00</u>	<u>\$32.00</u>	<u>\$640.00</u>	<u>\$34.00</u>	<u>\$680.00</u>
203.	Propper Women's Lightweight tactical Pants, Style F5254-50 Sizes: 18-32; Color Coyote Brown	20	<u>\$29.08</u>	<u>\$581.60</u>	<u>\$26.80</u>	<u>\$536.00</u>	<u>\$32.00</u>	<u>\$640.00</u>	<u>\$34.00</u>	<u>\$680.00</u>
204.	Jerzees Crewneck Sweatshirt Style #4662, Includes embroidery with logo on left chest, back, right chest with position of title, Sizes; XS-6XL- Screen	200	<u>N/B</u>	<u>N/B</u>	25.9 extra charges apply (charges not stated)	<u>\$5,180.00</u>	<u>\$28.50</u>	<u>\$5,700.00</u>	<u>N/B</u>	<u>N/B</u>
205.	Gildan's Long sleeve T-shirt, Style G240, Includes embroidery with logo on left chest, back, right chest with position of title, Sizes; XS-6XL -Screen	200	<u>N/B</u>	<u>N/B</u>	<u>\$22.40</u>	<u>\$4.480.00</u>	<u>\$20.50</u>	<u>\$4,100.00</u>	<u>N/B</u>	<u>N/B</u>



	COMPANY		DANA SAFETY SUPPLY		GAL	LS, LLC.	NAFECO		SMYRNA POLICI DISTRIBUTORS	
ITEM	COMMODITIES OR SERVICES	EST.	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL
NO.		QUANTITY	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
	Gildan's Short Sleeve T-shirt, Style G200 Includes embroidery with logo on left chest, back, right chest with position of title Sizes; XS-6XL - Screen	200	<u>N/B</u>	<u>N/B</u>	<u>\$18.65</u>	<u>\$3,730.00</u>	<u>\$17.50</u>	<u>\$3,500.00</u>	<u>N/B</u>	<u>N/B</u>
	Game Sportswear Responder Work Shirt, Style 8025-T, Sizes S-6XL; Color: Navy	60	<u>N/B</u>	<u>N/B</u>	<u>\$33.10</u>	<u>\$1,986.00</u>	<u>\$49.00</u>	<u>\$2,940.00</u>	<u>N/B</u>	<u>N/B</u>
	TOTAL BID AMOUNT (PUBLIC SAFETY: E911) LINES 193:207		<u>\$4,071.20</u>		<u>\$59,942.00</u>		<u>\$41,040.00</u>		<u>\$8,476.00</u>	

	MARSHAL'S OFFICE													
208	XTREME BODY ARMOR, ABA XT01, (men) - ABA Ballistic Vest Level IIIA – with additional carrier, Color: Black, no substitutes.	25	<u>\$650.00</u>	<u>\$16,250.00</u>	<u>\$941.50</u>	<u>\$23,537.50</u>	<u>N/B</u>	<u>N/B</u>	<u>\$1,100.00</u>	<u>\$27,500.00</u>				
209	XTREME BODY ARMOR, ABA XT01, (women) - ABA Ballistic Vest Level IIIA – with additional carrier, Color: Black, no substitutes.	5	<u>\$650.00</u>	<u>\$3,250.00</u>	<u>\$941.50</u>	<u>\$4,707.50</u>	<u>N/B</u>	<u>N/B</u>	<u>\$1,100.00</u>	<u>\$5,500.00</u>				
210	ABA Uniform Shirt Carrier – Male with adjustable shoulders and 4 front pockets, Color: Black, no substitutes.	25	<u>\$149.00</u>	<u>\$3,725.00</u>	<u>\$146.50</u>	<u>\$3,662.50</u>	<u>N/B</u>	<u>N/B</u>	<u>\$275.00</u>	<u>\$6,875.00</u>				



		COMPANY		SAFETY IPPLY	GAL	LS, LLC.	NAI	NAFECO		A POLICE BUTORS
ITEM NO.	COMMODITIES OR SERVICES	EST. QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
211	ABA Uniform Shirt Carrier – Female with adjustable shoulders and 4 front pockets, Color: Black, no substitutes.	5	<u>\$149.00</u>	<u>\$745.00</u>	<u>\$146.50</u>	<u>\$732.50</u>	<u>N/B</u>	<u>N/B</u>	<u>\$275.00</u>	<u>\$1,375.00</u>
212	Blauer Style # 8372 ArmorSkin Short Sleeve Poly Blend Street Shirt with 3 button centerfront placket, polyester, Sizes: S-XL, Color: Black, no substitutes.	125	<u>\$139.57</u>	<u>\$17,446.25</u>	<u>\$33.00</u>	<u>\$4,125.00</u>	<u>\$33.96</u>	<u>\$4,245.00</u>	<u>\$36.19</u>	<u>\$4,523.75</u>
213	Blauer Style# 8372 ArmorSkin Short Sleeve Poly Blend Street Shirt with 3 button center front placket, polyester, Sizes: 2XL-4XL, Color: Black, no substitutes.	25	<u>\$139.57</u>	<u>\$3,489.25</u>	<u>37</u> <u>3X: \$40.50</u> <u>4X:\$43.00</u>	<u>\$925.00</u>	<u>\$33.96</u>	<u>\$849.00</u>	<u>\$47.05</u>	<u>\$1,176.25</u>
214	Under Armour Men's HeatGear Tactical Compression Fit T- Shirt, short sleeve, Sizes: S– XL, Color: Black, no substitutes.	30	<u>N/B</u>	<u>N/B</u>	<u>\$16.00</u>	<u>\$480.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$20.00</u>	<u>\$600.00</u>
215	Under Armour Men's HeatGear Tactical Compression Fit T-Shirt, short sleeve, Sizes: 2XL -3XL, Color: Black, no substitutes	30	<u>N/B</u>	<u>N/B</u>	<u>\$16.00</u>	<u>\$480.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$20.00</u>	<u>\$600.00</u>
216	Under Armour Women's HeatGear Tactical Fit T-Shirt, short sleeve, Sizes: S – XL, Color: Black, no substitutes.	10	<u>N/B</u>	<u>N/B</u>	<u>\$14.50</u>	<u>\$145.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$20.00</u>	<u>\$200.00</u>
217	Under Armour Women's HeatGear Tactical Fit T-Shirt, short sleeve, Sizes: 2XL - 3XL, Color: Black, no substitutes.	10	<u>N/B</u>	<u>N/B</u>	<u>\$14.50</u>	<u>\$145.00</u>	<u>N/B</u>	<u>N/B</u>	<u>\$20.00</u>	<u>\$200.00</u>



		COMPANY	DANA SAFETY SUPPLY		GALLS, LLC.		NAFECO			A POLICE IBUTORS
ITEM	COMMODITIES OR SERVICES	EST.	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL
NO.		QUANTITY	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
	TOTAL BID AMOUNT (MARSHAL'S OFFICE) LINES 208-217		<u>\$44,905.50</u>		<u>\$38,940.00</u>		<u>\$5,094.00</u>		<u>\$48,</u>	<u>550.00</u>
	TOTAL BID AMOUNT		<u>\$2,69</u>	<u>9,530.08</u>	<u>\$2,97</u>	<u>6,465.12</u>	<u>\$467,</u>	<u>.711.42</u>	<u>\$526</u>	<u>,606.95</u>

		GENERAL	COST							
1	Cost to furnish Patches for items (County Name Patch)	<u>N/B</u>	<u>\$1.25</u>	<u>\$3.00</u>	<u>\$2.00</u>					
2	Cost for Initial Set-up of Screen Print Design	<u>N/B</u>	<u>\$0.00</u>	<u>\$35 PER COLOR PER</u> <u>SCREEN</u> <u>\$50/HOUR ARTWORK</u>	<u>\$100.00</u>					
3	Bidder states percentage mark-up for specialty sizes, as noted in MS.	<u>N/B</u>	<u>20%</u>	<u>100.0%</u>	<u>10-50%</u>					
	MISCELLANEOUS ITEMS TOTAL AMOUNT	<u>N/B</u>	<u>\$1.25</u>	NOT PROVIDED	<u>\$102.00</u>					
Numb	er of Bids Received			4						
	Participation Benchmark / GFE lance at Mandatory LSBE Meeting (Yes/No)	- (LSBE Requirement is waived for this ITB: per approval by the Chief Operating Officer)								
Separa	ate Sealed Price Schedule (Yes/No)	Yes	Yes	Yes	Yes					
		Notes:								



ITB NAME: UNIFORM FOR PUBLIC SAFETY PERSONNEL

	COMPANY		DANA SAFETY SUPPLY		GALLS, LLC.		NAFECO		SMYRNA POLICE DISTRIBUTORS		
ITEM	COMMODITIES OR SERVICES	EST.	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	
NO.	QUANTITY		PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	
D	Decommond arrived to the largest mean analysis and mean angible hiddens										

Recommend award to the lowest responsive and responsible bidders:

NAFECO, 715 Park North Blvd, Suite 120, Clarkston, GA 30021: Line Items Nos- 19-21, 23-27,150-153, 174, 196,199, 204-206.

Galls, LLC, 1340 Russell Cave Road, Lexington, KY 40505: Line Item Nos.: 1,3-12,16,18,22,28-30,33-83,85-125,154-171,175,176,180,185,188-190,193-195,197,198,200-203,207,208-217.

Dana Safety Supply, 4729 Nelson Brogdon Boulevard, Sugar Hill, GA 30518: Line Items Nos-126-133,172.

Smyrna Police Distributors, 2295 South Cobb Dr., Smyrna, GA 30080: Line Item Nos.: 15,17,84,173,177-179,181-184,186-187.

Witness Signature: Megan St Clair Herbert